INSTALLATION MANUAL INSTRUKCJA MONTAiU

KONSTRUKCJE
NA DACH PLASKI

Flat roof structures

KONSTRUKCJA BALASTOWA
TROJKAT MAGNELIS SZEROKI
MODUL >2100mm

Wide magnelis triangle ballast structure. Module >2100mm.

AR SO 9001
¥ ENISO 1090 1
% ENISO 3834 2




INSTRUKCJA MONTAZU

INSTALLATION MANUAL

1. ROZMIESZCZENIE

Layout

Podktadka EPDM 330x120x4mm

EPDM pad 330x120x4mm

Rozmies¢ trojkaty na szerokosé modutu fotowoltaicznego + 20mm
Pod kazdy tréjkat podtdz dwie podktadki EPDM.

X + 20mm

X + 20mm

Arrange the triangles at distances equal to panel width + 20mm
Place two EPDM pad under each triangle.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

2. I\/IONTAZ/BAI_ASTU
BLOCZKOW BETONOWYCH

Mounting ballast - concrete blocks

e
Co

w [ Strefy wiatrowe
o Wind zones

saczEcm .
svegoszcz

.
& ToRUN WALYSTOR

= W1 oo

Docigz za pomoca balastu wszystkie tréjkaty magnelis.
Ciezar balastu musi byc dopasowany do strefy wiatrowej,
w ktérej konstrukcja jest montowana.

Load ballast on pressure magnelis triangle. Weight of the ballast must be adjusted to the wind zone
corresponding to the location of structure.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

3. MONTAZ KLEM

Module clamp installation

Klema

Sruba imbusowa M8 Module Clamp

M8 allen bolt

Nitonakretka M8

M8 rivet nut

W otworach w dolnej czesci trojkata umies¢ nitonakretki M8. Przymocuj klemy

za pomocg $rub imbusowych, klemy powinny luzno wisie¢, zostang one przykrecone
w czasie zaktadania kolejnych modutdw.

W gérnej czesci tréjkata przymocuj klemy za pomocg $ruby imbusowej M8

oraz nakretki kotnierzowej M8. Podtuzny otwdr pozwala na regulacje mocowania

w zaleznosci od wysokosci modutu.

)
\

T
P

\

Sruba imbusowa M8 Klema

M8 allen bolt Module Clamp

Nakretka
kothierzowa M8

M8 nut

Insert M8 rivet nuts into lower hole of the top part of the triangle mount.
Lightly fasten clamps using M8 allen head bolts. Clamps should float freely
and be tightened when subsequent modules are installed.

On the top part, fasten clamps with M8 allen bolt, and M8 nut.

Oblong hole allows for adjusting clamp position to module height.



R 4. MONTAZ PANELI FOTOWOLTAICZNYCH

Installing the photovoltaic panels

=
‘N

g

4

o

=

<

=

()

X

=2

[~

=

(2]

&

= | | A A
S Rl PR P TR T PR P EE FREE RN e e e e R e e e e e e\ L
S

2

S}

=

3

|

=

%)

<

Na tak przygotowanej konstrukcji rozmies¢ moduty dokrecajgc klemy On a structure prepared like this, install modules one by one securing every subsequent

one with clamps. Clamps should be at the right module height, according to the PV module's

kolejno po utozeniu kazdego nastepnego modutu. Klemy powinny znalez¢ si
J P a 9 @ pneg yPp y a e installation manual.

na odpowiedniej wysokos$ci modutu, zgodnie z zaleceniami instrukcji montazu - et teton o e e o e A
2 : e recommended tightening torque for the middle and end terminals is 8. m.

modutow fOtOWO|talcznyCh' To minimize the risk of deformation of the PV module frame,

Zalecany moment dokrecania $rodkowych i koricowych klem wynosi 8,5 Nm. the tightening torque should not exceed 13.5 Nm.

Dla zminimalizowania ryzyka deformacji ramy modutu PV moment dokrecenia

nie powinien przekracza¢ 13,5 Nm.



INSTRUKCJA MONTAZU

INSTALLATION MANUAL

5. MONTAZ WIATROWNICY

Wind deflector installation

2x Blachowkret

2x Self-tapping screw

Za pomoca dedykowanych blachowkretéw przykre¢ wiatrownice do trdjkata Using self tapping screws fasten the wind deflector to the triangle mounts
(2 blachowkrety na tréjkat). (2 screws per mount).




